
Pupil engagement quiz 3: Answers

Independent Driving

Correct answer is C. Explanation: It is a good idea to have a rough idea of the route. By think-
ing it through it can avoid local known roadworks and roads that prove to be regularly con-
gested and where to park.

Correct answers are B & C. Explanation: Dogs should not travel in the front of the vehicle. 
They should be restrained in the back and the vehicle should have ventilation for the animal.

Correct answer is A. Explanation: No device should ever be programmed on the move and it is 
good not to use a phone at all whilst driving, including  ‘hands free’.

Correct answers are B & C. Explanation: Possibly green to start with but white are local signs, 
which may downgrade from large route indicators, to finger posts.

All answers are correct. Explanation: A shovel due to the extremes of weather the uk faces 
in the winter. A blanket to keep warm whilst awaiting for recovery in case of breakdown. The 
sack could be used to put under the driving wheels if stuck in snow to iad traction. A flask of 
hot driving and food in case of severe hold up.

Night Driving

Correct answers are B & C. Explanation: Adjust the anti-dazzle toggle and consider pulling 
over to let them pass.

All answers are correct. Explanation: Inexperienced, young animals get killed on the roads. The 
setting sun is more on an orange colour which exasperates contrast sensitivity, which is where 
on-coming vehicles come out of a dark void within the sunlight.

Correct answer is B. Explanation: When parked at night, lights need to be applied for parking 
on any road over 30mph.

All answers are correct. 

All answers are correct. 

Rural Driving

Correct answers are A & C. Explanation: It should be remembered as Speed Low Observe 
Warning because it will make you look for a warning sign. If no warning sign exists then there 
may be concealed entrances ahead.

Q.1

Q.2

Q.3

Q.4

Q.5

Q.1

Q.2

Q.3

Q.4

Q.5

Q.1



Correct answer is C. Explanation: Pedestrians could be on either side of the road.

Correct answers are B & C. Explanation: On a blind bend, speed should be greatly reduced, 
the window lowered and the noise level in the vehicle reduced so that oncoming traffic might 
be heard. The sound of the horn should be considered. The headlights would be of little use in 
the day time.

Correct answer is C. Explanation: A market garden or farm.

All answers are correct. Explanation: All are correct. The problem with close proximity is mainly 
when on-coming LGVs and PCVs are unable to hug the nearside of their side of the road for 
fear of breaking their nearside mirrors by hitting solid vegetation in the hedgerows.

Vulnerable Road Users 

Correct answer is A. Explanation: Pedestrians could be on either side of the road.

Correct answer is A. Explanation: A green traffic light means ‘go if the way is clear’. It is not 
clear in this instance.

All answers are correct. Explanation: Kids on skateboards are normally distracted and so may 
do any of the options mentioned.

All answers are correct.

Correct answers are B & C. Explanation: The rider would have received Compulsory Basic Training 
(CBT) but the machine will be speed limited and the rider could be lacking road experience.

General Driving Knowledge

Correct answer is C. Explanation: No vehicles except bicycles being pushed.

Correct answer is A. Explanation: Triangular signs warn.

Correct answer is C. Explanation: It is hexagonal so that if it is covered in snow, it will still be 
recognised.

Correct answer is B. Explanation: The Give Way sign is an inverted triangle so that if it is cov-
ered with snow it can still be recognised.

Correct answer is A. Explanation: The symbols represent different diversionary routes that may 
share the same road or cross each other.

Q.2

Q.3

Q.4

Q.5

Q.1

Q.2

Q.3

Q.4

Q.5

Q.1

Q.2

Q.3

Q.4

Q.5


